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S - ZE - SI(E) - KISA - BES Ol st e lmE==]
=1t 4,110,000 3,994,659 115,341
B F=N=KX gt 4,110,000 3,994,659 115,341
SROMIE 22|2F(SRIESE A 4,110,000 3,994,659 115,341
SF20HIE 222k 4,110,000 3,994,659 115,341
201 LBH2AL| 30,000 30,000 0
02 2224l 30,000 30,000 0
O SFA0HIE Al |XIHI 6,000,000 6,000
O SFA0HIE 2eld| 24,000,000& 24,000
501 Skt= 46,000 0 46,000
01 2i”tsX=2 46,000 0 46,000
O SRJA0HHE &M SXi= 46,000,000 46,000
801 oildld] 2,034,000 0 2,034,000
01 ZEtiBIbI 2,034,000 0 2,034,000
O 0oyl 2,034,000,000& 2,034,000
802 Btet=J|Et 2,000,000 1,000,000 1,000,000
03 UY3as 2,000,000 1,000,000 1,000,000
O SFJ0HIE =3 Ltazgd
2,000,000,000& 2,000,000




